Index

No. Part No.

—_

55-109489-xxx

47-036695-xxx
47-037474-009
55-109301-000
11-054801-000
11-052003-000
11-051744-000
55-109490-000
47-035241-000
47-035240-001
11-054466-000
11-055800-000
11-052933-000
11-052020-000
11-051752-000
55-109495-000
11-052947-000
11-053795-000
11-051743-001
11-052008-000
47-035239-004
47-035238-004
11-053101-001
11-053622-000
55-279288-009
55-279289-009
99-020434-004
11-052018-001
55-279288-000
55-279289-000
11-054805-000
11-051745-000
11-051018-000
47-035099-001
11-430046-000
47-034842-004
11-051067-000
99-010102-004
47-031822-004
47-031054-002 L
47-031054-002 R
11-051793-000
11-053477-000
47-034767-004
47-031056-003
47-031055-003
47-031091-004
47-033555-009
47-033556-009
47-036706-009
47-036707-009
47-036711-001
11-051746-000
11-050325-004
11-052216-000
47-030276-004

QOO BEDBBEADNMADNDBAADWWWWWPWWWWORNNNRNNNNRNNNS 2 A3 3 a3 00 (omnmwh
PARWONLPOORXRNIARDONLOOONIARWUNP,OORNDIARWON2OOONOOTEWN 2O T T2

C2

Package / Order
Reference

Description

Boost Ball Accelerator Complete w/Drive and Guide
Assembly

Drive Assembly for Ball Accelerator (XXX)
Ball Guide Assembly

Curtain Holder

Button Head Socket Cap Screw (M8 x 20 mm)
Flat Washer

Lock Nut (M8)

Ball Accelerator Box Assembly
Accelerator Side Plate L.H.

Accelerator Side Plate R.H.

Button Head Screw (K60 x 25 mm)

EJOT Plastic Nut

Flat Socket Head Screw

Flat Washer

Locknut (M5)

Ball Accelerator Box Protector Plate

Flat Socket Head Screw

Pan Head Screw (M6 x 60 mm)

(M6) Locknut

(M6) Flat Washer

Holder

Ball Door Arm Shaft

Set Screw (M x 8 mm)

Stop Ring

Ball Cushion Stop Assembly L.H.

Ball Cushion Stop Assembly R.H. - Not lllustrated
Rubber Bumper

Flat Washer

Cushion Stop L.H.

Cushion Stop R.H. - Not lllustrated

Button Socket Head Cap Screw (M10 x 25 mm)
Locknut

Hex Head Cap Screw (M6 x 20 mm)

Ball Door Lever

Bearing

Bushing

Hex Head Cap Screw (M8 x 35 mm)
Bushing

Lever

Accelerator Ball Door L.H.

Accelerator Ball Door R.H. - Not lllustrated
Split Pin

Speed Nut

Tension Spring

Ball Door Key L.H.

Ball Door Key R.H. - Not lllustrated

Ball Door Shaft

Ball Boor w/Arm Assembly, L.H.

Ball Door w/Arm Assembly, R.H.

Ball Door Sensor Assembly, L.H.

Ball Door Sensor Assembly, R.H. - Not lllustrated
Ball Door Sensor Bracket

Locknut

Micro Switch

Slot Head Machine Screw (M3 x 18 mm)
Door Spring

Ball Accelerator Assembly (Subway)

June 2024



Ball Accelerator Assembly (Subway)

C3

June 2024



